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307 elztol & 30,000 27,400 2,600
01 22X +&H| 30,000 27,400 2,600
OULESAMEY 225 ¢ 2,000
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== 11,0002 %1,400& 15,400
—F= 11,0003 %900 9,900
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& 53,49
ey 124,831
307 QIZ2tOI A 356,660 341,760 14,900
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& 53,49
= 124,831
01 2L HZH| 356,660 341,760 14,900
O0elol HeUES 94,760
Dl 47,380
=3 14,214
= 33, 166
O0elold, SXAM L = 20
SES 19,960
J| 9,980
& 2,994
= 6,986
Osstu(18td) S22 3,660
J| 1,830
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- 1,281
oe =2 WE 920
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== 138
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== 78
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Il 18,398
= 18,398
MU IIRINZZENSES 36,796 36,180 616
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—Jl2= 77,0002 x2EH %1302 20,020
Il 10,010
s 10,010
—F=5=g 77,0003 x28 »26 4,004
Il 2,002
= 2,002
— %X 77,0003 x2E+5& 770
) 385
[Ea 385
—dAZAHI 510
Jl 255
e 255
-5 77,0003 x2H 4 616
Il 308
= 308
—HE=JH 200,000 x2H *23] 800
Jl 400
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—Ag=E 50,0003 x2S +6IH 2 600
Il 300
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—A2l=&
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) 890
o 890
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